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[AGR202] A machine is an appliance or equipment that uses
Power

[AGR202] Which of the following is not a machine
The try square

[AGR202] The operation of four-stroke cycle engine can be found in
All of the above

[AGR202] Property not common with basic machines is
Depreciation

[AGR202] Depreciation is the loss in value of a machine
With the passage of time

[AGR202] The efficiency of a machine include the following except
Work done by the lever

[AGR202] The following are examples of a machine except
Combustion engine

[AGR202] Which of this is not principle of a 4-stroke cycle engine
Boring stroke

[AGR202] Which of this is not considered as part of fixed cost
Fuel

[AGR202] Gears are meant to do the following
All of the above.
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